normalized X?

2 4 6 8

10 12 14 16 18 20
X2

[ normalized x? probability |

40

0

09%70.1 0.2 0.3 O.

O

50.

60

.7 0.

8 09
Prob(x?)

=== HQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN

=== DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all

< x2/ndf >

5

OF

T

<prlp > (%)

o ie] i X
T T 1 ¥
@ o 1 A
1+ 3
0.95 L !
=3 -2 -1 0 3
TP n (PCA to beamline)
A A
5 k<]
{=4 c
< <
Vv \%
he] Re]
T T
14 4
g ! : ;
2 : 5
8'_ 05 """ T '4' N L 1
— . N
o . ¥
o N i
2 "W* 101 S
S S A 511111 R
: {
-1.5] R T R - e e ee e

Ratio




	Contents
	Page 1


